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1. Given the following,

1. public class Test {

2. public static void main(String [] args) {

3. signed int x = 10;

4. for (int y=0; y<5; y++, x--)

5. System.out.print(" " + x);

6. }

7. }

what is the result? (Choose one.)

A. 10 9 8 7 6

B. 9 8 7 6 5

C. Compilation fails

D. An exception is thrown at runtime
2. Which is a reserved word in the Java programming language? (Choose one.)

A. method

B. native

C. subclasses

D. reference

E. array
3. Which two are keywords? (Choose two.)

A. interface

B. unsigned

C. Float

D. this

E. string

4. Which two are valid declarations of a String? (Choose two.)

A. String s1 = null;

B. String s2 = ‘null’;

C. String s3 = (String) ‘abc’;

D. String s4 = (String) ‘\ufeed’;

E. String s5 = “strings rule”;
5. What is the most restrictive access modifier that will allow members of one class to have access to members of another class in the same package?

A. public

B. abstract

C. protected

D. synchronized

E. default access
6. Given the following,

1. public class Test {

2. public static void main(String [] args) {

3. byte [][] big = new byte [7][7];

4. byte [][] b = new byte [2][1];

5. byte b3 = 5;

6. byte b2 [][][][] = new byte [2][3][1][2];

7.

8. }

9. }

Which of the following lines of code could be inserted at line 7, and still allow the code to

compile? (Choose four that would work.)

A. b2[0][1] = b;

B. b[0][0] = b3;

C. b2[1][1][0] = b[0][0];

D. b2[1][2][0] = b;

E. b2[0][1][0][0] = b[0][0];

F. b2[0][1] = big;
7. Given the following,

1. class Equals {

2. public static void main(String [] args) {

3. int x = 100;

4. double y = 100.1;

5. boolean b = (x = y);

6. System.out.println(b);

7. }

8. }

What is the result?

A. true

B. false

C. Compilation fails

D. An exception is thrown at runtime
8. Given the following,

1. public class Switch2 {

2. final static short x = 2;

3. public static int y = 0;

4. public static void main(String [] args) {

5. for (int z=0; z < 3; z++) {

6. switch (z) {

7. case y: System.out.print("0 ");

8. case x-1: System.out.print("1 ");

9. case x: System.out.print("2 ");

10. }

11. }

12. }

13. }

What is the result & why?

A. 0 1 2

B. 0 1 2 1 2 2

C. Compilation fails at line 7.

D. Compilation fails at line 8.

E. Compilation fails at line 9.

F. An exception is thrown at runtime.


-------------------------------------------------------------------


-------------------------------------------------------------------

9. Which two are not benefits of encapsulation? (Choose two.)

A. Clarity of code

B. Code efficiency

C. The ability to add functionality later on

D. Modifications require fewer coding changes

E. Access modifiers become optional

10. Given the following,

class A {

public void baz() {

System.out.println("A");

}

}

public class B extends A {

public static void main(String [] args) {

A a = new B();

a.baz();

}

public void baz() {

System.out.println("B");

}

}

What is the result?

A. A

B. B

C. Compilation fails.

D. An exception is thrown at runtime.

11. Given the following,

1. public class StringRef {

2. public static void main(String [] args) {

3. String s1 = "abc";

4. String s2 = "def";

5. String s3 = s2;

6. s2 = "ghi";

7. System.out.println(s1 + s2 + s3);

8. }

9. }

What is the result?

A. abcdefghi

B. abcdefdef

C. abcghidef

D. abcghighi

E. Compilation fails.

F. An exception is thrown at runtime.

12. Which collection class allows you to grow or shrink its size and provides indexed access to its

     elements, but whose methods are not synchronized?

A. java.util.HashSet

B. java.util.LinkedHashSet

C. java.util.List

D. java.util.ArrayList

E. java.util.Vector

13. Given the following,

public class MyOuter {

public static class MyInner {

public static void foo() { }

}

}

Which statement, if placed in a class other than MyOuter or MyInner, instantiates an instance

of the nested class?

A. MyOuter.MyInner m = new MyOuter.MyInner();

B. MyOuter.MyInner mi = new MyInner();

C. MyOuter m = new MyOuter();

MyOuter.MyInner mi = m.new MyOuter.MyInner();

D. MyInner mi = new MyOuter.MyInner();

14. Given the following,

1. class MyThread extends Thread {

2.

3. public static void main(String [] args) {

4. MyThread t = new MyThread();

5. t.run();

6. }

7.

8. public void run() {

9. for(int i=1;i<3;++i) {

10. System.out.print(i + "..");

11. }

12. }

13. }

What is the result?

A. This code will not compile due to line 4.

B. This code will not compile due to line 5.

C. 1..2..

D. 1..2..3..

E. An exception is thrown at runtime.

15. Which two of the following methods are defined in class Thread?

A. start()

B. wait()

C. notify()

D. run()

E. terminate()

16. Which class or interface defines the wait(), notify(), and notifyAll() methods?

A. Object

B. Thread

C. Runnable

D. Class

16. Java allows:

A. pass by value

B. pass by reference

17. A String Class 

A. is final 
B. is public 
C. is serializable 
D. has a constructor which takes a StingBuffer Object as an Argument 

18. Given the following,

1. public class Test {

2. Static {

3. System.out.println(“Hi”);

9. }

5. }

What is the result?

A. Hi

B. Compilation fails.

C. An exception is thrown at runtime.
19. Given the following,

1.public class Foo {

2.public void doStuff(int y, String s) { }

3.public void moreThings(int x) { }

4.}

5.class Bar extends Foo {

6.public void doStuff(int y, float s) throws IOException { }

7.}
What is the result?

A. doStuff() is overriden
B. doStuff () is overloaded
C. An exception is thrown at runtime.

D.None of the above.

20. Which methods are legal overloads of the changeSize() method below,

A.public void changeSize(int size, String name) { }

B.public int changeSize(int size, float pattern) { }

C.public void changeSize(float pattern, String name)throws IOException { }

D.All

21. In Java all the variables are stored where?
A.Stack
B.Queue
C.JVM

D.Heap

E.None of the above

22. In Java all the Objects are stored where?

A.Stack

B.Queue

C.JVM

D.Heap

E.None of the above

23. Given the following,

1. class Test {

2. public static void main(String [] args) {

3. try {
4.
……

5. Generate IOException
6. 
……

7.}
8. catch(Exception e) {

9. System.out.print(“Hello ”);
10.}

11.catch(IOException ie){

12.System.out.print(“World”);

13. }

14. }

What is the result?

A. Hello World
B. This code will not compile due to line 11.

C. Hello
D. World
F. This code will not compile due to line 8.

E. An exception is thrown at runtime.

24. Abstract class
A. can be instantiate.
B. can not be instantiate.

C. can be subclass ed.
D. can not be subclass ed.
25. Interface is 

A. an abstract class.
B. a complete class.

C. a contract that an implemented class must follow.

D. a contract that an implemented class may follow.

26. The Actual Polymorphism in java 

A. is method overloading
B. is constructor overloading.

C. is method overriding.

D. is constructor overriding.

27. Given the following,

1. class Test {

2. Test ( ){

3. System.out.print(“This is the super class constructor”);

4.}

5.}

6.public class child extends Test {

7.child(){

8.super();

9.this();

10.child(int a){

11. System.out.print(“This is the base class overloading constructor”);

12.}

13.public static void main (String args[]){

14. System.out.print(“This is main method of base class”);
15.}

16.}


The output will be printed as below:
A. This is the super class constructor.
B. This is the base class overloading constructor.
C. This is main method of base class 

D. All of them.
E. Only A & B.
F. Only B & C.

G.None of the above.

28. What is default constructor in Java?

29. What is the main deference in Abstract class & Interface?

30. What is the checked exception in Exception?

31. What is the difference between a constructor and a method?
32. Give an example of a final class which we are used in java programming language?
33. Can main () method be overloaded?

34. What is garbage collection? What is the process that is responsible for doing that in java?
35. What is the basic difference between String and String buffer object?
36. The Java interpreter is used for the execution of the source code.

A. True

B. False

37. What is the return type of program’s main ( ) method?

38. What is the argument type of program’s main ( ) method?

39. Java supports multidimensional arrays.

A. True

B. False

40. Which of the following declare an array of string objects?

A. String [ ] s

B.String [ ] s 

C.String[s]

D.String s [ ]
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